2016 £ & 2 FEBBEXRKE
284 10 A 16 B

H AJAavy
ol F—L%Z BT R |2t/ PIRA | BEAR |oeonsx|5 APR| ] 2] | & [#a|ax]=x[z=[mx
o 0 - 1|1 - 1]3 -1 - 0 - 1
1 TITR ° A o ° 1112|444 ]0]|4
i 1 -0 - 1 - 0|1 - ol0o - 0
2| Z8/M o o o A 3] 1]ofro]3]of3]2
— 1T - 1 - 3 - 0|4 - 0o[1 -0
3 FiFA A o o 0310109181
s 1 - 3[0o - 1]/0 - 3 1 -0 - _
4 BRI ° ° ° o 110]3|3|2]7]-5|5
] - 0 - 1/0 - 40 - 1 0 -0 _
5 |KOBATO-#1R & °® P P A 0Oj1]3]1]0]6]|-6]6
= 1 - 0o[0 - 0[O0 - 1 - 0 -0
6 B AR o A ° A 1{21]5 1lo]3
B3k L ES 237 HF EX
1] 9:00 A TITH 0 - 1 SR/ KOBATO- #iiR 5
2( 9:15 B FiEA 3 -0 BANR TITH
3| 9:45 A |KOBATO-f##E% ([0 - 0 BAHFR FEA
4| 10:00 B RANR 1 - 3 TITHR FAPR
5| 10:30 A ZHE/ N 1 - O|KOBATO-##EEH| HANK
6| 10:45 B FARAPR 0 - 1 FiEA ZRE/M
70 11:15 A ZhE/ N 1 -0 BANR FIEA
8| 11:30 B TITH 0 - 1 FABRR RANR
9 12:00 A FIEA 4 - 0|KOBATO-#iRE| RITE
10[ 12:15 B FARAPR 0 -0 ZHE/ M KOBATO- #iiR
11| 12:30 B BANR 1 - O|KOBATO-#iRE| HARP R
12| 12:45 B FiIRA 1 - 1 TITH ZHE/ N
H BJAOvY
no|  F—L4 BRiF NI JEFa | FIEB [NNOEB| B | 3l | & |#sa|ss|xs|z228|Ex
= 0 - 1/o - of1 - 2[1 -0 _
1 iR ° A ° o 11121 4 3|-1| 4
S 1 -0 1 - 0|3 - 0|3 -0
2 FD I o o o o 41001280 8] 1
0 - 0[O0 - 1 1 - 1]l2 -0
3 JEm A ° A o 1121151 3|2|1]3
— = 2 - 110 - 311 -1 1 -0
1 111 -1
4 FixB o PS A 0O 2 71415 2
0 - 1|0 - 3[0 - 2|0 - 1 _
5| JIIO%AA ° ° ° ° olo|l4|l0|O]|7]|-7|5
BAR | 5P Ea =4 Ea FTE
@[ 9:00 B Rix 0 - 1 Hni e
®@)| 9:30 A JI=157] 1 -1 FixB BRix
®)| 9:45 B JIIOgRHE 0 - 1 8RR FixB
@| 1015 A HNi 1 -0 TEm JNnagA
®)| 10:30| B FixB 1 -0 JIOgA HNi
®| 1100 A TErE 0 -0 Rix FixB
@| 1115 B FixB 0 -3 s &
1145 | A IR EA 0 - 2 TEm 0
©| 1200 B RiF 1 - 2 FixB A g A
1230 | A HNi 3 -0 JNIOEA BRiIx




2016 £ & 2 FAHEXRHRKRE (F3[ME)

TR 284108160

mC7avy
no|l  F—LF 3988 o | sAxit[esyrakl oz [l 3] &8 lss|les|es|z2]me
1 - 3[1 - 0|4 - of2 - 1
1 i ° o o o 31o0f[1]9 41412
3 - 1 4 - 0|4 - o3 -0
2 A o o o o al0|o0|12]14] 1131
= 0 - 1[0 - 4 0 - 1]o0 - 1 ~

3 B Adt ° ° ° ° olo|4|lofo]7]|-7]|5
~ 0 - 4[0 - 4]1 -0 0 - 1 ~

4 B AK ° ° o ° 1{o]3|3[1]9]|-8]4
- 1 - 2|0 - 3][1 - of1 -0 ~

51 o= e |l el o | o 2]10fl2|6]3|5]|-2|3

Bt | 3ZFR BF 237 ES FE

@] 9:15 A i 1 -3 J[[] = FAI

@] 9:30 B FAI 0 - 1 B BK SR

®| 1000 A naz 1 - 2 4R B ABK

@| 10:15 B jna 4 - 0 FAI oz

®)| 10:45 A B AK 0 - 1 naz nna

®| 11:00| B FAI 0 - 1 i BT BK

@| 11:30 A B BK 0 - 4 J[[] = FAI

11:45 B oz 1 -0 FAI jna

©| 12:15 A SR 4 - 0 B ABK ez

1245 | A ne 3 -0 naz SR

LUk



